Briiel & Kjaer Vibro

AC -139

Flansch fur Beschleunigungssensoren Typ AS-xxx und ASA-xxx
Flange for acceleration sensors, Type AS-xxx and ASA-xxx
Tripode de fixation pour un accéléromeétres, Type AS-xxx ou ASA-xxx

42
32*

el
e

* MaRe fiir Befestigungsbohrungen

Anwendung

Kraftschliissige Montage von
Beschleunigungssensoren Typ
AS-02x, AS-030, AS-06x und
ASA-xxx.

Beim Einsatz des Flansches AC-139
liegt die obere Grenze des Sensor-
Frequenzbereiches bei 3 kHz + 1 dB
und 6 kHz + 3 dB.

Technische Daten

Werkstoff
Edelstahl 1.4301

Gesamtgewicht
2509

25,4*

28,2 mm

R1,5
R
{

4@‘#
O o

@ft{}/ Js,sL

Dimensions for mounting holes

Application

Friction-type mounting of acceleration
sensors type AS-02x, AS-030, AS-06x

and ASA-xxX.

When using the AC-139 flange, the
upper limit of the frequency range of
the sensor is 3 kHz + 1 dB and 6 kHz
+3dB

Technical Data

Material
Special steel 1.4301

total weight
250 g

info@bkvibro.de

Jy v -
Rk
AC139 (990119)

Gabarit de fixation

Utilisation

Le tripode de fixation AC-139 est
destiné au montage des accéléro-
metres de type AS-02x, AS-030,
AS-06x und ASA-xxx.

Il limite la gamme de fréquence des
accélérometres a 3 kHz + 1 dB et
6 kHz + 3 dB.

Données techniques

Matériau
Acier inoxydable
(matiere n®  1.4301
Poids total
250¢g



AC - 139

Montage

Ankopplung
Grundsatzlich gilt:

Die Masse des Beschleunigungs-
sensors mit montiertem Flansch sollte
wenigstens zehnmal kleiner sein als
die schwingungstechnisch relevante
Masse des Messobjekts, an die er
montiert ist.

Begriindung:

Beschleunigungssensoren mit mon-

tiertem Flansch sind Zusatzmassen,

welche das Messobjekt belasten und
dessen Schwingverhalten andern.

Beschleunigungs-Sensor
montieren

Hinweis

Der Beschleunigungssensor bendtigt
eine kraftschlissige, kontaktresonanz-
freie und steife Befestigung am
Messobjekt, insbesondere fiir
Messungen bei hohen Frequenzen.

® Dinne Schicht Silikonfett auf die
Montageflache zwischen Sensor
und Flansch auftragen, um
Kontaktresonanz zu vermeiden.

® Flansch mit beiliegender Schraube
M8 x 10 am Sensor einschrauben
und sichern (z.B. mit LOCTITE 243
mittelfest, LOCTITE 270 hochfest).

® Dabei die Orientierung des Sensor-
Kabelabganges zum Flansch und
das max. Anzugsmoment = 4,5 Nm
beachten.

® Flansch mit montiertem Sensor an
der Messstelle mit 3 Zylinder-
schrauben M 5 befestigen

Assembly
Coupling
Mass proportion:

The mass of the acceleration sensor
together with the mounting flange
should be at least ten times smaller
than the technically relevant mass of
the object on which they are mounted.

Basis:

The acceleration sensor with mounting
flange are parasitic masses which load
the object being measured and can
significantly alter its vibration
behaviour.

Mounting the acceleration
sensor

Note

The acceleration sensor requires a
friction-type, resonance-free and stiff
coupling to the object being measured,
especially for measure-ments in the
high frequency range.

® Apply a thin layer of silicon grease,
between sensor and flange to
prevent contact resonance.

Attach the sensor to the flange
using the supplied M8 x 10 screw
and tighten (e.g. with LOCTITE
243 medium-bond, LOCTITE 270
heavy-duty bond).

® Take care of the cable orientation
to the flange and the max. torque
of 4,5 Nm.

® Attach the mounted sensor with 3
hexagon M 5 screws and tighten.

Montage
Fixation
Regle de base:

La masse de I'ensemble [capteur +
tripode AC-139] doit étre inférieur a
10 % de celle de I'objet dont on veut
mesurer les vibrations.

Justification:

Le capteur et son tripode représentent
une masse additionnelle qui peut
modifier le comportement vibratoire du
corps d’épreuve.

Installation de
’accéléromeétre

Remarque

Un accélérométre doit étre fixé de
maniére trés rigide et sans résonance
de contact, particulierement pour les
mesures a haute fréquence.

® Déposer une fine couche de
graisse au silicone sur la surface
d’appui du capteur, afin d’éviter les
résonances de contact.

® Fixer le tripode au capteur, a l'aide
de la vis M8 x 10 fournie. Assurer
I'ensemble contre le dévissage a
I'aide d’'un frein-filet adapté.

® Tenir compte de 'orientation finale
de la sortie de cable du capteur.
Limiter le couple de serrage a
4,5 Nm.

® Fixer le tripode au point de mesure
a l'aide de 3 vis M 5.

@ Briiel & Kjzer Vibro




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


